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Risposte

1. C

2. B

3. C

4. B

5. B

6. A

7. B

8. C

9. D

10. C

11. C

12. D

13. A

14. A

15. C

Risolvi ogni problema.

1) Quale opzione è un
multiplo di 10?

A. 184

B. 176

C. 190

D. 163

2) Quale opzione è un
multiplo di 6?

A. 118

B. 84

C. 101

D. 74

3) Quale opzione è un
multiplo di 5?

A. 71

B. 82

C. 85

D. 76

4) Quale opzione è un
multiplo di 9?

A. 164

B. 117

C. 100

D. 169

5) Quale opzione è un
multiplo di 2?

A. 41

B. 22

C. 25

D. 39

6) Quale opzione è un
multiplo di 5?

A. 95

B. 99

C. 79

D. 101

7) Quale opzione è un
multiplo di 9?

A. 179

B. 126

C. 169

D. 132

8) Quale opzione è un
multiplo di 5?

A. 86

B. 68

C. 90

D. 71

9) Quale opzione è un
multiplo di 3?

A. 62

B. 50

C. 34

D. 39

10) Quale opzione è un
multiplo di 10?

A. 112

B. 143

C. 150

D. 178

11) Quale opzione è un
multiplo di 10?

A. 176

B. 123

C. 190

D. 168

12) Quale opzione è un
multiplo di 2?

A. 39

B. 31

C. 23

D. 28

13) Quale opzione è un
multiplo di 6?

A. 66

B. 83

C. 106

D. 81

14) Quale opzione è un
multiplo di 6?

A. 90

B. 95

C. 101

D. 107

15) Quale opzione è un
multiplo di 9?

A. 164

B. 157

C. 135

D. 145
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